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3. U5 B AFEEY dFEoth b2 F Fold B

£ o]gote] I g& 7 5 gle A2?
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2.6 1,612 1.616 1.619 1.622

2.7 1.643 1.646 1.649 1.652

2.8 1,673 1.676 1.679 1.682

2.9 1,703 1,706 1,709 1,712
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@ v2.60 @ V2.72
® 2091 @\/2.61 —/2.94

® V2.834++2.70
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4. V241 =1552,241=4.909 ¢ o, T+-& & 27
A2 ALY [l 3, sHd ]
O V241 =15.52
@ /0.241 = 0.4909
@ 2410 = 49.09

@ /24100 = 155.2
@\/0.0241 = 0.01552

®+/0.0241 = /2.41 x 0.01 = 0.1v/2.41 = 0.1 x
1.552 = 0.1552




5. V2 = 1.414,V/3 = 1.732 & ], +/200 + /1200 <]

SAE2?

[HH 3, SHd ]
@ 31.46 @ 36.38 @ 40.72
@ 46.32 @48.78

V200 + /1200 = /2 x 100 + /12 x 100
= 10v2 + 10v/12 = 10v/2 + 203
= 14.14 + 34.64 = 48.78

6. v3=17329 1, /34300 ZAE 25 &
A2} 7R Fskodat, [Hi 3, o]
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> = 19.05

V3 4+ /3 x100 = V3 +10V3 = 11v3= 11 x
1.732 = 19.052
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1.5 1,225 | 1,229 | 1,233 | 1.237
1.6 1,265 | 1,269 | 1,273 1,277
1.7 1,304 | 1,308 1,311 | 1,315
1.8 1,342 | 1,345 | 1,349 | 1,353
1.9 1.378 | 1.382 | 1.386 | 1.389
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® V162 @ v0.0192 ® V17200
@ /180 @\/0.00152

® V162 = /1.62 x 100 = 10v/1.62 = 10 x
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1.92  1.92
@ v0.0192 = ‘/W = = (0.1386
® /17200 = v/1.72 x 10% = 100v/1.72 = 131.1
@ /180 = v/1.80 x 102 = 101/1.80 = 13.42
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© v0:00152 = 10000 100

(B 3, S5t

8 80 45
v/0.008 = = =
1000 10000 100

4
= — x 2.236 = 0.08944
* 100 % 2.236 = 0.089




10. o5 AFIHE o]8sto] &4k v6.51 + v6.53 —
6.43 = otofet,
e 0 1 2 3 4
| 6.3 | 2,510‘ 2,512‘ 2.514 2.516 | 2,518
6.4 2.530 | 2,532 2,534 | 2,536 2,538
6.5 | 2,550_ 2‘551_ 2.553 | 2,555 | 2,557
6.6 2.569 | 2,571 2.573 | 2,575 5,577
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2.551 4 2.555 — 2.536 = 2.57
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@ 3v3-9  B)3v3-10
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13. V59 2% BES oft L @ ®,a?— (2+V5)a+4V6

HH 4, S5

a=+v5-2

a?>—(2+Vba+4V5
=(V5-22-(2+V5)(V5-2)+4V/5
=5-4/5+4—(5-4)+4/5=28




14. /30 = 5.477 4 @, /a = 0.05477 & T=5H= o 9
= szt 4, TF )
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@ 0.3 (@)0.003
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“ 100
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15. v2 = 1414, v3 = 1.732 & o, /200 + +/0.03 <]
LA ToHA L. M 4, 55

>
> ®Eeh: 14.31

Ct -
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V3,

3
v/200 4 1/0.03 = 10v/2 + 0 14.14 4 0.1732 =

14.31




